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The microorganism used In the preparation of Formic Acd Is. -4—(/ r,fuu.,dww,yw.u
Saccharomyces 720sk (D) Protoznan gwiss (©) Bacllus /¥ (B) Aspergliius /% ¢ (A)
The medicine obtained from mineral Is. : .q..él» /S b
How many carcinogens are present In tobacco smoks? | \(3 P | gﬁllu-’-u.‘r;&ﬂ!
The MMdd removed from rubber plant is.. j ». .4—-:&1(4.!!:&2 eyl

All of these are hormones except. o 7y Ly iz iy

' | The disorder In which there Is an acoumutation of Urlc acid In joints. _¢-trrt¥ 2 Ut 12 A ke

Ostsoporosis U~ uid A ®) Gout 24f )
Rhéumatold\a\fhﬂtipjl};fﬂbp (D)r:_: Osteoarthritis J’t}ﬂk,ﬂ ©|

Bacteria reproduce asexually by. : O £ 444.81@’ !:waé P uﬁw

Regeneration ¢ 2(5 (D) BlnarthdonJ U/ © Fragmentaﬂon c?p ) (8) Budding £} (A

Vegetative propagation in onlon,occy;_m;.ﬂ\mugh. .444'8:' "'u.z“'@'ﬂ.ﬂ:k

When Watson and Crick proposed the model of DNA structure?  $47 %/ Ulibesi§ DNAL ST i

Blosphere &¢| (D)  Habitat el (C) Communlty &< ® Population My w

Antitoxdns #4d @) Aspirin ¢f¢1 (C)  Tincture lodine ¢3f1& (B) Morphine .l (A

D@ @ 0@ 40
Resins 72, (0)  Muclage & (©  Gums® Latex ¥ W

Pepsinogen cf¥'yes (D) Thymudn "LdI2(C) Glucagon MF (B)  Insuln e W

Tuber‘lzf“ (D) Rhizome (:JGL (©) Bub t (B) Com e D
Biood groups o/ 3% (D) Inteligence 2 (C)  Weight s (B)  Height5 (A)

1954 (D) 1953 (C) 1852 (B) 1851 (W

Predation (244 (D) Parasitism @#li (C) Mutualism (%« (B) Commensalism X0/ f (A)
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Itis an example of discontinuous: varlaﬂons -Mbddidy FAR

The Interaction In which both pariners get beneft s called? b L Wlurbe Julnt P | 1 |




10" CLASS ~ 12022 D& K

‘”f}

Z145=J; Fo» BIOLOGY §/k
48= 7 gart ) Jolo v el
Gle- G132 i
Q.No.2: Write short answers to any five of the followings. 5x2=10 ,égf u“i/j L»Izlékcu’ Lien 2 Ay
Write two differences between inspiration and expiration. HF ke "JU"’("'JJ“‘){JU;J o
Write the types of bronchitis. E 7850 | i
What is Nicotine? What was its use in past? * RJI* YIS ¢ 4.wa £l o
Write leading causes of Kidney failure. _54/ A8k LesS | v
Write two functions of Skin for homeostasis. _ég/’ (JUI»LA:{—LU}? 2| v
What are receptors? Give one example. _é,db-.g?d L/J};‘.""J vi
What is Nerve impulse? S'q.L/uV 187 | vii
Compare the role of Glucagon and Insulin. -é;}lrb"}“ Lw:')wuﬂ)’ viii
Q.No.3: Write short answers to any five of the followings 5x2=10 _éd .-al.l.zf'g Llflé&c—c}:bb(m 3Ly
Differentiate between endoskeleton and Exoskeleton. _g{d’ JI uf‘fﬁ ,fl,,,‘.;é:a gt |
Define antagonism. _é...y ¥l (friﬂ}l ii
Define Parthenogenesis and give its one example. Eyf db\.ﬁulé..z Yl du/‘{ g A4 | i
Define Spermatogenesis and Oogenesis. .é...l A4 ‘."ulul‘,ff:" A
Define Loci. ' -éq /7(585’1 v
Define Punnett square. _é..z F88,Le| Vi
Differentiate between breeds and varieties. .éd  JePsnlihe | Vil
Define genotype and phenotype. _é..z ¥] Lf.,,fbiéuh'f#iﬁ‘ viii
Q.No.4: Write short answers to any five of the followings 5x2=10 _égf 1] 4 /'" leléyc.u‘-\b@» 4 / dlr
Define species. -é..z A i B | i
What are the heterotrophs? sl i 2| i
Describe the components of ecosystem. _édk'm[—f'/ iii
What is meant by biogeochemical cycles? T4l pl lre K LJ-”{ 2Ll v
What is meant by genetic engineering? sl ek P 4 Lﬁ? v
Describe the uses of enzyme Endonuclease. éugdu”w/ 12l ,Jiud vi
What is meant by addictive drugs? Ao e clnlnld | vii |
What is social stigma? ?ulcrféj Lrdtejbd b |viit
(Part 11) /».#

NOTE: Attempt any two questions from this part. 9x2=18 _éd .-.uz[,.—,mn,c.éfz.u.'-xm W2y

Write a note on Osmotic adjustments in Plants. (1+2+2) .é{ 7 cy u.ﬁ b S SIS ~Ung
Define Joint Write a detalled note on Its types. (1+3) J ulz,‘ka.rl}témméuyq Alesiz

W 54Jir
®

(1+2+2) .é4 /’(Duf’; y 4.11,,:,.@
What Is feedback mechanism? Write the types of feedback mechanism.
Differentiate between epigeal and hypogeal germination. (2+2) ,éu p- u’:f 2 .il,uuf' (&

W 8AJly

(B)

Explain in detail the steps of genetic engineering groups. (5) .éc)yc.dj JI /LJ /! I.ﬁ_’.
Define antibiotics and describe its major groups. (1+3) ,éczw&fv':f gif.ﬁluléq . (ﬁf‘é .Z&&C

W74y
(B)
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‘Stomata are present in. . R msgrted | 1
' Epidermis 4%/ (D) Phioem fﬁ © Endoder“ﬁ'ﬁé “ u;} ® Xylem (! U (A

This Is an example of halophytes. ‘ -~ ;q—db'uf § (Halophytes) 4.)f b, 2
Cactl &3%((0) Water Lily J# (C) Rose yl‘ ) Sea grass S5, (A)

Hormone that Increase concentration of Glucose In biood Is. ,f o ,4..;«4_%11:!»(51!}(.#(_)]!0;‘4 3
Blle JL (O  Insulin Ufr'l © Calcltonln u’}u)f (B) Glucagon Jf

Ball-and-socket Joints allow movement in. G LSS i‘fb iz - d& 4

Two direction U5 (B)  One direction 2= fi (A) | -
Al directions LU P17 (D) No direction &uters” (C)

This is not a part of Carpel. . . 1 by | 5
Ovary (sl (D) = Style J®(C) Anther /I (B)  stigma L& Q)

‘Male gonads are called. oy AL L8| 6
Sperms » .« (D) Ovaﬁes':T'éz):il“(é) Eggs ((»I)J‘l (B) Testes u‘w w

Guanine forms pair with? o : e Qe VLS LT 7
Cytosine /0L (D)  Thymine u‘élﬂ (c) ¥ Adenins uw (B) Carbon ¢4 (A)

Who presented the term artificial selection ? e ry..uwz,g‘fowdsbdk 8
Bu All sma cv(h ® f Abu Rayhan Biruni (rgoic.dl (A)
Watson J s (D) “:.-. Gregor Mendel d,«vz‘f ©

‘ U fieigdis. | €

Itis an example of ectoparasite. o s ey
© Bacteria L (D) . Vinus, UB© Mosq to £ B  Ascaris VAT (A
= _(,EL/ rel:ycllng Juplrdw;}lmlu”{u:f‘/ ﬁlz’i{r
Organlsms In ecosystem that are rasponslble for recycling of plants and animals wastes are.
Competitors J,Jd @ Deoomposets Jm! ($$(C) Consumers i, (B) Producers J, 4354 (A
Aspergllius produces. e _4,8// 4 (Aspergillus) gf" !
Acrylic acld 2 E14 (D) “‘nyml d!&lf (C) Fommicacid 1L4 (B) = Ethanol Ji#| (A
The most common method of adminléterlng vaccines Is by. PR S Vo 2 PN 8 oF

Skin 4 (D) - Injection f 1(C) Nasal Spray < ¥ (B) Mouth . (A)
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Q.No.2: Write short answers to any five of the following. 5x2=10 _&, /’..,uz/[_,:z:éi,c.ptww @/dtr
Define aerobic respiration. : .éq | (fgf ,{.JJ e | i
What is difference between breathing and cellular respiration? re-Jjl u-'-gﬁ'.,,b)kmu’; ii
What is ‘meant by Lung Cancer? Yo e XL %‘ iii
Write the name of two methods of Dialysis. ,ézf AL URI LA | v
Write two characteristics of Xerophytes Plants. ,édat_,-/’»du,gf bsgs| v
Write the name of two types of coordination in organism. .ég 7 (l}!u(fw’-'(j!]f(ﬁu»u[' vi
What is meant by Stimulus? Give example. Zye e &l g o vii
Differentiate between dendrites and axons. .éd )U-"-ib‘-luh}“ L&3 | viii
Q.No.3: Write short answers to any five of the followings. 5x2=10 ,éj o117 4 /j Llilékc.u-'-dlszw 3 / Jir
Define Exoskelton. .éq ¥l Ju“!-‘c A
How compact bone differ from spongy bone? ?4,..47 4, )J;,u,g‘f Ir{0) ,g_g,gf ii
Define Cloning. ,é._g,'" JJ £ i
Define double fertilization? Ey Pt | w
Define incomplete dominance. _éulf’ du’w :5(,}" k| v
Write two sources of Variations. ,4‘6 Sl = & | vi
What are discontinuous variations? AP dy 2 vi |
Distinguish between dominant and recessive. _éd)(f 7 &2 88 | il ‘
Q.No.4: Write short answers to any five of the followings. 5x2=10 J.é; /’ u“!/ Lbﬂé&:—u’ ubb/: 4 / (Jlr
Define Smog? sy 78S |
Write about global warming. -J LﬁQJ[’Lgfmbd’ i

_éu  JUtJ Ls (Non Renewable) 44 S 6.5 (Renewable) FUb

Differentiate between renewable and non renewable resources?

iv .

What is symbiosis? fe u"/ sl (f

Define genetic engiﬁeering. _éq Vel JJ / luﬁ’ v

Write the name of Medicines produced by Blotechnology. 2;‘0 rbéup:l(f ;L:d.ALJ /! Iu@’, ‘ vi

Define Vaccine and Vaccination. .é...z A S wlufé s | il A

What is the use of Morphine? e WAL | v *
(Part 1) #:.#

NOTE: Attempt any two questions from this part.  9x2=18 .ég ezl elyne (e ttout 0

Write a note on Structure of Kidney. (1+2+2) Ei ol | W5y

Describe the types of Joints and give examples.  (2+2) & ,ul’bwlé‘-)yrwéf Iz | (B)

Write notes on mid brain and hind brain. (2+3) _'é;/’.d/.czfﬁ;ﬂmwz- We AUy

Describe androecium and gynoecium. (2+2) ,éu(b(ffz Bful{;;wl (B)

Explain the detalled basic steps of genetic engineering (5) éuya_uu,d' I /d:L»uf.J / l«..g? INYPATS

Describe the mode of action of Vaccines. @ .éub.z)t’i.f fb’L/ (|®)
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